BEERA R 2022501 A13H (K)

2021 RMFRINLIKXE

HAH :2022.1.13 16:51

SV R 1.0 BRN\VT "B36.0 Z436.0 ELA—)L: 0UT 1 3 4 5 8 9
IN 10 11 12 13 14 1]
BB E FHRY T AAF7AHAY bk FT)— 0
EFHa—X  :0UT IN SmA - BE145 N LIS A AEH160A
IBRLREAE  £FBB N\NoT4 Do kiNvyy
Bz SmERSA OUT | IN |GROSS| HDCP | NET |eossims: e Itz |  SmERSA OUT | IN |GROSS| HDCP | NET |erossis s %
1de#t &5l 25 46 44 90/ 20.4 /69.6 25 ol EH &5 42 43 85 9.6 |75.4 5
2 KkE =R EER 46 54/ 100/ 30.0 | 70.0 99 VAL N R 45 46 91/ 15.6 |75.4 29
JME EE 3L 43 40 83/12.0 |71.0 2 53| Mg BUS 50 47 97/21.6 |175.4 17
4 HH Tt 43 41 84/12.0 |72.0 3 54 |1Fik EE 50 58 108/ 32.4 | 75.6 140
bl =K XB 54 48 1021 30.0 | 72.0 115 b5 | HA%t WSE 47 49 96/ 20.4 |75.6 66
6 7% BEXE 43 46 89/16.8 |72.2 20 56 BE F—ER 45 45 90| 14.4 | 75.6 25
7lUA = 43 46 89/16.8 |72.2 20 57 %% EN 50 50 1001 24.0 [76.0 99
8 7kF FF0 4] 47 94/ 21.6 |72.4 50 58|/h il FK 49 51 1001 24.0 [ 76.0 99
IR E 44 44 88/ 15.6 |72.4 12 59 TR FEA 52 48 1001 24.0 [76.0 99
10801l H=E= 104z 41 47 88/ 15.6 |72.4 12 60 1EH EEE 53 52 105/ 28.8 |76.2 127
11/dt#+ BE 45 47 92119.2 |72.8 33 61/ ILTF 5% 46 41 87110.8 |76.2 9
12 HEH BRER 45 47 92119.2 |72.8 33 62|[EA BE 47 52 99/ 22.8 |76.2 94
135 1k 43 49 92119.2 |72.8 33 63| 4 N— 51 48 99/ 22.8 |76.2 94
14 L Bx 50 42 92119.2 |72.8 33 64 FFH 46 47 93/ 16.8 | 76.2 44
15880 #Hth 46 46 92119.2 |72.8 33 65;thIN Z[¥F 53 52 105/ 28.8 |76.2 127
16 A FRF 48 49 97/24.0 |73.0 17 66| BF F=E 50 53 103/ 26.4 |76.6 118
17 4811 A 49 47 96/ 22.8 |73.2 66 67 1L pME 52 45 97/ 20.4 |76.6 17
18 [ HE Z 42 42 84/ 10.8 |73.2 3 681 Z=:H 46 51 97/ 20.4 |76.6 17
19 ME FNER 50 45 95/21.6 |73.4 56 69 %A EF 51 46 97/ 20.4 |76.6 17
20 R &RX 51 50, 101(/27.6 |73.4 107 10/#H+% FE 7043z 49 54, 103/26.4 | 76.6 118
211/\K 5Eh 46 49 95/21.6 |73.4 56 NnAEWL BER 49 47 96/ 19.2 |76.8 66
2208 B 47 47 94/ 20.4 |73.6 50 12| S5k ZE 47 55 1021 25.2 |76.8 115
23| Ry & 44 44 88/ 14.4 |73.6 12 13| 5/ #8847 45 50 95/18.0 |77.0 56
24 %F# = 44 44 88/ 14.4 |73.6 12 14| BB 1E& 46 43 89/12.0 | 77.0 20
2517 #% W 39 43 82| 8.4 |73.6 1 15 %L 858 48 53 101124.0 [ 77.0 107
260 AL &= 41 46 87/13.2 |73.8 9 16| E50k A 43 46 89/12.0 | 77.0 20
271157 &’X 56 48 104/ 30.0 | 74.0 122 17 7% FK 47 48 95/18.0 |77.0 56
28| h#t HLER 48 50 98/24.0 |74.0 86 18| S5 BHH 51 50, 101/24.0 | 77.0 107
297K EEBA 45 47 92/118.0 | 74.0 33 19 5B S 43 52 95/18.0 |77.0 56
30 /M 5P 43 48 91/16.8 | 74.2 29 80| f8F Ihi: 51 49 1001 22.8 | 71.2 99
31/ILUA 17 47 44 91/16.8 |74.2 29 81| BT B 52 54, 106/28.8 | 77.2 134
32/ IUA BFk 50 46 96/21.6 |74.4 66 82|7)I| ffixk 49 45 94/ 16.8 | 77.2 50
33;E0O E— 51 45 96/ 21.6 |74.4 66 83|ithN RE& 44 44 88/10.8 |77.2 12
34| L% Fk 47 49 96/ 21.6 |74.4 66 84|y EEA 45 49 94/ 16.8 | 77.2 50
35deHt | 46 44 90/ 15.6 |74.4 25 85| 1IBAR F 46 47 93/15.6 |77.4 44
36/ /0O #— 49 46 05/20.4 | 74.6 56 86 Fa4t BH 49 50 99/ 21.6 | 77.4 94
371 mA HeE 48 53 101126.4 | 74.6 107 871/HE A=k 50 49 99/ 21.6 |77.4 94
38| T #Hx 46 49 95/20.4 |74.6 56 88|/l B = 43 50 93/ 15.6 |77.4 44
39|fa1L EE 49 45 94/19.2 | 74.8 50 89|/hS HF 50 55 105/27.6 | 77.4 127
40 EA 13 40{sL 46 42 88/13.2 |74.8 12 90|52 % 48 44 92/ 14.4 |77.6 33
A\u0O 1F#t 54 52 106/ 31.2 | 74.8 134 91|78 1K 46 46 92/ 14.4 |77.6 33
42 % g 50 38 88/13.2 |74.8 12 92| KIE KT 46 46 92/ 14.4 |77.6 33
435+ H B 42 46 88/13.2 |74.8 12 93|[fH IETR 43 43 86| 8.4 |71.6 6
44 ZHF mE 43 50 93/18.0 | 75.0 44 94| giiA Fntt 47 51 98/ 20.4 |77.6 86
45T XX 45 48 93/18.0 |75.0 44 95 EH & 46 52 98/ 20.4 |77.6 86
46 dedt HE 48 45 93/18.0 [75.0 44 96| FE P&E 51 47 98/ 20.4 |77.6 86
47 AR ZE 42 45 87/12.0 |75.0 9 97 FxH B 51 46 97/19.2 |717.8 17
48188 B 51 47 98/ 22.8 |75.2 86 98| NiE 2Nk 50 53 103/ 25.2 | 71.8 118
49 FFEE LIE 43 43 86/ 10.8 |75.2 6 Y WLT Fs 45 46 91113.2 |717.8 29
50/ EJIl &k 54 44 08/ 22.8 |75.2 86 100/ #2K #2BH 10043z 50 47 97/19.2 |717.8 11
(=]
1/ 2 BB T L D{ERE



HAHR :2022.1.13 16:51
el
2021 EFERMFRITILIXRE
BEEBR B 2022501 B138 (K)
SOVKRHE 1.0 =RANDT  BM36.0 Zf4$36.0 ELA—)L: OUTT 3 4 5 8 9
IN1O 11 12 13 14 17
BEAE FARYT ARAFTHAY bk ZT)L— 0
FHa—X  0UT IN SN - BE145 N LIS AEH160A
IBEGREAZE - £FEAB NV T1 A9 by sH
B SmEKA ouT IN |GROSS| HDCP | NET | erossimt &5%& IBGI | SmEKA ouT IN |GROSS| HDCP | NET |arossigts Ez
101=8 BS 47 50 97/19.2 [77.8 77 151 LA EF# 48 58] 106]22.8 |83.2 134
102 Fsk &% 47 43 90/12.0 [ 78.0 25 152|%85% LHF 60 52| 112]/28.8 |83.2 147
103 =ik % 50 46 96/ 18.0 | 78.0 66 153 BR7E 1£HA 57 57| 114/30.0 | 84.0 153
104 L B— 54 54/ 108/30.0 | 78.0 140 154/ /ME&R IEX 51 50/ 101]/16.8 |84.2 107
105 Afh &= 60 48] 108/30.0 |78.0 140 155| Ki1F fE= 56 63| 119/34.8 |84.2 156
106 &3 BA= 45 50| 95/16.8 |78.2 56 156|tHiR Ef@ 59 60| 119/34.8 |84.2 156
107E# ITH 51 50| 101]/22.8 |78.2 107 157Kl & 63 60| 123/36.0 | 87.0 158
108 EE%7 3 47 48 95/16.8 | 78.2 56 158k A EE 63 61| 124/36.0 | 88.0 159
109 =R 2E 58 54 112/33.6 | 78.4 147 159y g BBE 63 52| 115/ 25.2 189.8 154
110588k 1E3= 47 53| 100/21.6 | 78.4 99 160 #83 1A 69 61/ 130/36.0 [94.0 160
111 BA gk 46 54 100/21.6 | 78.4 99
112| At SE8A 51 55| 106/27.6 | 78.4 134
113|dh)Il 1§ 52 53| 105/26.4 |78.6 127
114 8)I =& 53 52| 105/26.4 |78.6 127
115 &8 A 49 55| 104]/25.2 |78.8 122
116 5% = 50 48 98/19.2 [78.8 86
17 98 B 55 60| 115/36.0 | 79.0 154
118 1lUA FH— 52 57/ 109/30.0 [79.0 143
1190 —E 46 50| 96/16.8 |79.2 66
G T 46 50| 96/16.8 |79.2 66
121 58 & 50 57| 107/27.6 | 79.4 139
122 EJR BEF 55 58/ 113]33.6 | 79.4 150
123/ H#E #£X% 44 45 89/ 9.6 [79.4 20
12451 EIE b4 57| 111/31.2 179.8 146
125 |78 #iT) 52 53| 105/25.2 |79.8 127
126 B4t BEth 47 51 98/18.0 [80.0 86
1271 ;E% &— 45 59| 104/24.0 [80.0 122
128/ %1l 18X 60 50 110/30.0 [80.0 144
12918 R #%xk 45 47 92/12.0 [80.0 33
130/ 8RH % 1304z 41 51 92/12.0 [80.0 33
131/ KA ¥4 42 44 86/ 6.0 [80.0 6
132K % 51 52|  103]/22.8 |80.2 118
133|= & BA 44 53 97]/16.8 [80.2 77
134 % &% 48 48 96| 15.6 |80.4 66
135 @A E— 45 51 96| 15.6 |80.4 66
136 FX #= 51 51 102/21.6 | 80.4 115
13740 &8 48 53|  101]/20.4 |80.6 107
138 JIlA =¥ 49 52|  101]/20.4 |80.6 107
139;thE 18§ 44 51 95/ 14.4 80.6 56
140/ 3T B%3A 51 55|  106]25.2 |80.8 134
141 #/50 E8 55 57| 11231.2 180.8 147
142 KA = 47 47 94/13.2 80.8 50
143 t2@ & 51 49| 100/ 19.2 |80.8 99
144 B3 HfEA 57 48] 105/24.0 [81.0 127
145 /hv#k #E 48 51 99/18.0 [81.0 94
146 B8+ EAHR 55 55| 110/ 28.8 |81.2 144
147|115 FEBL 48 56| 104]/22.8 |81.2 122
148 2@ Bi& 51 53| 104/22.8 |81.2 122
149 %23 BF 60 53| 113]31.2 |81.8 150
150 AP A— 59 54/ 113/30.0 | 83.0 150
B
2/ 2 BURRE T )L 7R 2 AR



